Math 109  Practice Quiz 8   [There are two pages.]
  

                                       3             x<2

  1. Graph   g(x) =  
[image: image1.wmf]                                    
                                      x+1          x(2
    First graph y=3 for x<2.  Then graph y=x+1 for x(2.  


[image: image2]
2.  Find the intersection point of the graphs the following equations:    y = 2x + 7     y = 4x + 2. 

                    (5/2,12)

3.  Suppose the total cost in dollars to produce x staplers is 
          C(x) = 12x + 40,000.

        a. What is the cost to make 1000 staplers?

                  $52,000

        b.  What is the average cost of making 1000 staplers?

                  $52

        c.  What are the fixed costs?

                 $40,000

        d.  What is the marginal cost per stapler? 

                 $12

        e.  If the revenue function is R(x) = 22x, what is the
             break-even point?   4000 staplers
4.  Is the following a graph of a function?  Explain how you determined your answer.                    y 

                                                                                              x
No.  You can draw a vertical line and it hits the graph in 2 places.  [For example, the y-axis.]  Therefore, the vertical line test tells us that it cannot be a graph of a function. 

(2,3)
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